Math 53 - Multivariable Calculus

Quiz # 1
sz
January 20th, 2012

Exercise 1. Skeich the curve given by x = 1+ v/t, y = t2 — 4, where 0 < t £ 5, and indicate the
orientation of the curve (i.e., indicate with an arrow the direction in which the curve is traced as t

t=5
(1WJE,5)

increases).
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Exercise 2. Describe the motion of a particle wilh position (x(t),y(t)), where x(t) = 5sin(z), y(t) =
2c0s(t) and —w <t < &7,
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Exercise 3. Find the parametric equations for the path of a particle that moves once amgii¥clockuwise
around the circle z2 + (y — 1)% = 4 starting at (2,1).
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